1809001

Committed to Excellence

127
THK

5.00"

SECTION A-A

DETAIL B u g T
Seismic End Shield ESE Hardware Kit
CSF P/N# Height CSF P/N# QTY Description
ESE25xx 84.00” PHO0404 5 12-24 X 5/8” PH Phil Cutting
LWE153 5 #12 External Tooth Lock Washer
HN143 5 12-24 Hex Nut

Notes:

- Kit includes all mounting hardware and Seismic End Shield.

- Seismic End Shield mounts onto both RNE and RUE style Bays.
- RUE Bay - Not Included

- See: EGSxx Series for RU and RN bays.

343

Specifications subject to change. Please contact CSF Customer Service for more information.

© copyright 2004 Central Steel Fabricators, Inc. RVSD*08/20

http://www.centralsteelfab.com . 2100 Parkes Drive, Broadview, IL 60155



Committed to Excellence
ESE Series - Seismic End Shield Extensions
//‘
Bay Rack Extender
Not Included
Bay Rack Extender
Not Included
54.00"
Height
/;
24.00"
Height
/IL /
84.00" Height 84.00" Height
CSF Pin# CSF PIndt
ESE25 ESE25
Included Included
Seismic End Shield
Height Selection Notes:
— ) - Kit includes all mounting hardware and Seismic End Shield.
CSF P/IN# Description Height - Seismic End Shield mounts onto both RNE and RUE style Bays.

ESE25xx | 24.00” + 84.00” 108.00”

ESE35xx | 54.00” + 84.00” 138.00”

ESE Hardware Kit

CSF P/IN# | QTY

Description

PH0404 5 12-24 X 5/8” PH Phil Cutting
LWE153 5 #12 External Tooth Lock Washer
HN143 5 12-24 Hex Nut

- RUE Bay - Not Included
- See: EGSxx Series for RU and RN bays.

344

Specifications subject to change. Please contact CSF Customer Service for more information.

© copyright 2004 Central Steel Pabricators, Inc. RVSD*07/20

http://www.centralsteelfab.com .

2100 Parkes Drive, Broadview, IL 60155




